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1. Define power set of a Set.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KZSdzGeSvEuT
https://dl.doubtnut.com/l/_aBoc2CISGKUr

2. Let A={1,2} and B={3,4}. Find the number of relations

from A to B.

o Watch Video Solution

3. Convert 240° into radian measure.

o Watch Video Solution

4. Solve the equation 2% + 3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_aBoc2CISGKUr
https://dl.doubtnut.com/l/_LHWwqQiNzLPA
https://dl.doubtnut.com/l/_4j5CpDXgRLLT

5.Evaluate 7! — 5.

o Watch Video Solution

n—3
6. Write first three terms of the sequence a,, = i

o Watch Video Solution

7.Find the slope of the line 3z — 4y + 10 = 0.

o Watch Video Solution

) sinax
8. Evaluate lim ( ) )
z—0 bw



https://dl.doubtnut.com/l/_tNRSz9ojelhe
https://dl.doubtnut.com/l/_5WScICRbWqod
https://dl.doubtnut.com/l/_0HpYaSQfUw0K
https://dl.doubtnut.com/l/_T0GYSzuGf49S

‘ o Watch Video Solution

9. Write the negation of statement /2 is not a complex

number.

° Watch Video Solution

10. Describe the sample space for the indicated
experiments.
A coin is tossed three times and exactly one head

appears.

o Watch Video Solution



https://dl.doubtnut.com/l/_T0GYSzuGf49S
https://dl.doubtnut.com/l/_TR8PqeqVl7BH
https://dl.doubtnut.com/l/_iMWv8j7VQGmn

1 If U=1{1,23,4,5,6,7,8,9}, A ={2,4,6,8 and

B = {2, 3,5, 7}. Verifythat: (AUB)" = A’ N B’

o Watch Video Solution

2. If X and Y are two such that
n(X) =17,n(Y) =23 and n(XNY) =35, find

n(XUY).

o Watch Video Solution



https://dl.doubtnut.com/l/_S3Mm9mChM5fZ
https://dl.doubtnut.com/l/_SFT003XsyjyO

3. Find the domain and range of the following real

functions:

(i) f(z) = — |z|, (i) f(z) = V9 — z*

o Watch Video Solution

4.Find the value of sin 75°.

o Watch Video Solution

5. A wheel makes 360 revolutions in one minute.

Through how many radians does it turn in one second?

o Watch Video Solution



https://dl.doubtnut.com/l/_wKbcBUS4IQaA
https://dl.doubtnut.com/l/_GJhJiXJ0H6nZ
https://dl.doubtnut.com/l/_8QMAtqOLHz0L

1+ 31

T o in the form a + %b.

6. Express

o Watch Video Solution

7. Solve 3x — 2 < 2z 4+ 1. Show the graph of the

solution on number line.

o Watch Video Solution

8. Find the  angle between the

V3r+y=1and z+,3y=1

lines

o Watch Video Solution



https://dl.doubtnut.com/l/_8QMAtqOLHz0L
https://dl.doubtnut.com/l/_KMz1FQJHYnBQ
https://dl.doubtnut.com/l/_Vr5sOssQowC5
https://dl.doubtnut.com/l/_yH0tmcvgdBSO

9. Find the equation of the line through the points (1,-1)

and (3,5).

o Watch Video Solution

10. Find the distance between the points (-3,7,2) and

(2,4,1).

o Watch Video Solution

) x3 — 222
11. Evaluate lim
r—2 5122 — 5(17 + 6

o Watch Video Solution



https://dl.doubtnut.com/l/_zi53PTD6W7Fd
https://dl.doubtnut.com/l/_kEaI68w7f1Uo
https://dl.doubtnut.com/l/_iVgVMy8QFPXL
https://dl.doubtnut.com/l/_2y0hv4EY8JVs

12. Write the contrapositive and converse of the
statement. If two lines are parallel, then they do not

intersect in the same plane.

o Watch Video Solution

13. Coefficient of variation of distribution are 70 and the

standard deviation is 16. What is the arithmetic mean of

the distribution

o Watch Video Solution

14. One card is drawn from a well shuffled deck of 52

cards.If each out come is equally likely calculated the


https://dl.doubtnut.com/l/_2y0hv4EY8JVs
https://dl.doubtnut.com/l/_N0vb0kD6DM1Q
https://dl.doubtnut.com/l/_aGFrAAuGsjd1

probability that the card will be
(i) a diamond

(i) not a diamond

o Watch Video Solution

15. One card is drawn from a well shufflied deck of 52
cards.If each out come is equally likely, calculate the
probability that card will be

Not an ace.

o Watch Video Solution



https://dl.doubtnut.com/l/_aGFrAAuGsjd1
https://dl.doubtnut.com/l/_EhAFvtcCx2gg
https://dl.doubtnut.com/l/_wkc0rAfZE6Fy

1. In a class of 35 students, 24 like to play cricket and 16
to play football. Also each student like to play atleast
one of the two games. How many students like to play

both cricket and football ?

o Watch Video Solution

2. Let fg: R — R be defined respectively by

f(z) =z + 1, g(x) = 2z — 3.Find f+g, f-g and i
g

o Watch Video Solution

3. Find the general solution of the equation

sin2x + cosx = 0.


https://dl.doubtnut.com/l/_wkc0rAfZE6Fy
https://dl.doubtnut.com/l/_u9YL92VDvonR
https://dl.doubtnut.com/l/_QBxNDz0QGryo

° Watch Video Solution

4.Express 1 + i4/3 in polar form

° Watch Video Solution

(3 — 20)(2 + 3i)

5.Find the conjuate of .
‘ (1+2i)(2 — 1)

o Watch Video Solution

6.Findrif.?P. = 5P.

o Watch Video Solution



https://dl.doubtnut.com/l/_QBxNDz0QGryo
https://dl.doubtnut.com/l/_Rb60DHE9Xsmd
https://dl.doubtnut.com/l/_sXiiaZhGiNoQ
https://dl.doubtnut.com/l/_gUqj1WzcyBPV
https://dl.doubtnut.com/l/_kxLM5tTvsE8i

7. Using binomial theorem, compute (98)5.

o Watch Video Solution

8. If the sum of a certain numbe of terms of the AP. 25

,22 19 ... is 116 . Find the last term .

o Watch Video Solution

9. The sum of first three terms of a G.P is 10 and their

product is 1. Find the common ratio and the terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_kxLM5tTvsE8i
https://dl.doubtnut.com/l/_DlOy9GCMLyZp
https://dl.doubtnut.com/l/_sWM0LIY10icv
https://dl.doubtnut.com/l/_m7RUzVOAXtEN

10. Find the co-ordinates of the foci, eccentricity and
length of the Ilatus rectum of the hyperbola

1622 — 9y% = 144

o Watch Video Solution

11. Differentiate of sin & w.r.t. x from first principles

o Watch Video Solution

12. Verify by the method of contradiction P:+/5 is

irrational.

o Watch Video Solution



https://dl.doubtnut.com/l/_m7RUzVOAXtEN
https://dl.doubtnut.com/l/_kC1l0Mh2vh9E
https://dl.doubtnut.com/l/_PjnbzfRnQXJf

13 If E and F are events such that

1 1 1
P(E) = 7 P(F) = 5 and P(Eand F) = §.F|nd
P(E or F).

o Watch Video Solution

4. If E and F are events such that
1 1 1
P(E) = 1 P(F) = 3 and P(Eand F) = §.F|nd

P( not E and not F).

o Watch Video Solution



https://dl.doubtnut.com/l/_v6PneAyKoK8u
https://dl.doubtnut.com/l/_eznyEIsaibSj

15. A bag contains 9 dics of which 4 are red,3 are blue
and 2 are yellow. The discs are similar in shape and size.
A disc is drawn at random from the bag. Calculate the
probability that it be

Red.

o Watch Video Solution

16. A bag contains 9 dics of which 4 are red,3 are blue
and 2 are yellow. The discs are similar in shape and size.
A disc is drawn at random from the bag. Calculate the
probability that it be

Yellow.

o Watch Video Solution



https://dl.doubtnut.com/l/_XPMN2C8UkQfa
https://dl.doubtnut.com/l/_hDGD7O1CcEZc

17. A bag contains 9 dics of which 4 are red,3 are blue
and 2 are yellow. The discs are similar in shape and size.
A disc is drawn at random from the bag. Calculate the
probability that it be

Blue.

o Watch Video Solution

1. Define modulus function, draw the graph of it, write its

domain and range.

. l


https://dl.doubtnut.com/l/_hDGD7O1CcEZc
https://dl.doubtnut.com/l/_Z8PTpfdHw4w6
https://dl.doubtnut.com/l/_mLQS9tOVslhJ

| ¥ vvaich Video >olution ]

4 2
2. Prove that: — = + cos 5z + cos 2z = cot 3z

sindx + sin 3x + sin2x

o Watch Video Solution

3.
n?(n + 1)°
P42+ +. i +0° = ( 7 ) Vn € N.
o Watch Video Solution
4. Solve the inequalities graphically,

c+2y<82xz+y<8xr>0,y>0.

| o Wiakt~h \NiAdan CAaliikian



https://dl.doubtnut.com/l/_mLQS9tOVslhJ
https://dl.doubtnut.com/l/_a1KIJMtdNJuH
https://dl.doubtnut.com/l/_ZmvbVfV9QtZ6
https://dl.doubtnut.com/l/_HgyKHZ6Xmk8B

5. A group consists of 4 girls and 7 boys. In how ways
can a team of 5 members be selected, if the team has.

No girl?

o Watch Video Solution

6. A group consists of 4 girls and 7 boys. In how ways
can a team of 5 members be selected, if he team has.

At least one boy and one girl?

o Watch Video Solution



https://dl.doubtnut.com/l/_HgyKHZ6Xmk8B
https://dl.doubtnut.com/l/_SeDHkzACxYmw
https://dl.doubtnut.com/l/_8P4FHo41hdFD

7. A group consists of 4 girls and 7 boys. In how ways can
a team of 5 members be selected, if he team has.

At least three grils?

° Watch Video Solution

8. State and prove Binomial theorem for all the integers.

o View Text Solution

9. Derive the equation of a straight line having the

intercepts 'a’ & 'b' on the X ane Y-axes respectively.


https://dl.doubtnut.com/l/_zb0B783lDCor
https://dl.doubtnut.com/l/_1v47eWEFJBty
https://dl.doubtnut.com/l/_wFvmv0L2ORoE

Hence find the equation of the line intercepts -3 and 2

on the X and Y-axes respectively.

o Watch Video Solution

10. Derive an expression for the co-ordinates of points
that divides the linejoining points
A(xzq,y1, 21) and B(xs, yo, z2) internally in the ratio
m:n.Hence find the co-ordinates of midpoint of AB where

A=(3,2,1) and B=(7,6,5).

o Watch Video Solution

sin @
= 1.

11. Prove that lim
6—0 6

| = |


https://dl.doubtnut.com/l/_wFvmv0L2ORoE
https://dl.doubtnut.com/l/_dg6uY1fiBS51
https://dl.doubtnut.com/l/_Me3NIJNIxyGV

| & Watch Video Solution J

12. Find the mean deviation about the mean for the

following data.

Find the mean deviation about (he mean ror (e oo ing wa

Marks Obtained 1020 | 2030 | 3040 | 40-50 | S0-60 | e-fu | 70-80
lhlwbernfﬁludenu 2 3 8 | u B 3 2

o Watch Video Solution

1. Prove that geometrically that

cos(x + y) = cosx. cosy — sinz. siny and hence show

that cos 2z = cos®z — sin’ z.

| - |


https://dl.doubtnut.com/l/_Me3NIJNIxyGV
https://dl.doubtnut.com/l/_geQMi0FsY9Dy
https://dl.doubtnut.com/l/_Ys3sMQPy2T0a

| QJ Watch Video Solution ]

2.Find the sum of the series, 7, 77, 777, 7777, ...........

to n tems.

o Watch Video Solution

3. Derive the equation of the ellipse in the form

o Watch Video Solution

sinx + cosx d
4.0y = SDET find —2Z,
sinxz — cosx dzx



https://dl.doubtnut.com/l/_Ys3sMQPy2T0a
https://dl.doubtnut.com/l/_FJRa5a4TgHBq
https://dl.doubtnut.com/l/_8YpXiyU2en07
https://dl.doubtnut.com/l/_lnt4kWM83IU4

| ' vvatch video >oilution



https://dl.doubtnut.com/l/_lnt4kWM83IU4

